
 Angles and Arcs     IB® EXAM STYLE QUESTION     

©2019 Texas Instruments Incorporated 1 education.ti.com 

Topic 3: Geometry and Trigonometry Angles and Arcs of Circles 

 

(a) The following diagram shows part of a circle with center 𝑂 and 
radius 6 cm. 
 

 
 

Arc 𝐶𝑃𝐷 has a length of 7 cm and  𝐶𝑂̂𝐷 = 𝜃. 
 

(a) Find the value of 𝜃, giving your answer in radians. 

 

(b) Find the area of sector 𝐶𝑂𝐷𝑄. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
(2 marks) 
 
(3 marks) 

 

Mark scheme: 

(a) 𝑆 = 𝜃𝑟 
 
7 = 𝜃(6) 
 

𝜃 =
7

6
 

 

(b) 𝐴 =
1

2
𝜃𝑟2 

 

𝐴 =
1

2
(6)2 (2𝜋 −

7

6
) 

 

𝐴 = 18 (2𝜋 −
7

6
) = 36𝜋 − 21  
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